Potencias de 10 (B)

9.6255+-0.01

2.773+0.01

8.4636 +0.01

6.8775+0.01

9.1233 +-0.01

2.6861+0.01

3.71+0.01

8.3811+-0.01

5.3423 +0.01

4.2127+0.01

Calcule los siguientes cocientes.

1.4124 +0.01

8.4553+-0.01

4.7826 +0.01

1.0478 +0.01

5.8131+-0.01

5.0887+0.01

2.8283+-0.01

9.9994 +0.01

9.9045 +-0.01

6.3879+0.01
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Potencias de 10 (B) Respuestas

9.6255-+-0.01
962.55
2.773+0.01
271.3
8.4636+-0.01
846.36
6.8775+0.01
687.75
9.1233 +-0.01
912.33
2.6861 +-0.01
268.61
3.71+0.01
371
8.3811+0.01
838.11
5.3423 +0.01
534.23
4.2127-+0.01
421.27

Calcule los siguientes cocientes.

1.4124 +-0.01
141.24
8.4553+-0.01
845.53
4.7826 +0.01
478.26
1.0478 +0.01
104.78
5.8131+-0.01
581.31
5.0887+-0.01
508.87
2.8283+-0.01
282.83
9.9994 = 0.01
999.94
9.9045 +0.01
990.45
6.3879+0.01
638.79
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